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Which one of the followin
el g is NOT correctly

(a) Article 52— Election of President

(b) Article 51A — Fundamental Duties

(c) Article 154 — Executive Powers of State
(d) Article 165 — Advocate General for the State

Which one of the following numbers will replace ‘?'
in the figure given below ?

(a) 40
(c) 31 (d) 51

The ratio of boys and girls in a school from 2017
to 2020 are given below :

Year : 2017 2018 2019 2020

Ratio: 1:4 1:2 1:5 2:4

If ratio of girls in 2018 and in 2020 is 3 : 1, then
what will be ratio of boys in 2018 and in 2020 ?
(@2:3 (b) 3:2

() 3:1 d) 2:5

With reference to the fundamental rights, which
of the following statements is/are correct ?

1. Article 19 (1) (g) of the Constitution protects
the right of every citizen of India to practice
any profession or business.

2. There is no fundamental right to carry on
business of intoxicants under Article 19 (1) (g)
of the Constitution.

Select the correct answer from the codes given

below :

Codes :

(a) Only 1

(b) Only 2

(c) Both 1 and 2
(d) Neither 1 nor 2

The Ancient Monuments Preservation Act was
passed during the tenure of which Governor
General ?

(a) Lord Minto
(c) Lord Canning

(b) Lord Curzon
(d) Lord Ripon
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6. With reference to entropy, when energy of the
system increases, which one of the following
statements will be correct ?

1. Entropy of the system increases,
"2. Entropy of the system decreases.

Select the correct answer using the codes given
below :

Co ds :
Jgﬁ)nlw (b) Only 2
(c) Both1and 2 (d) Neither 1 nor 2
7. 1§ SCOTLAND is written as 12345678, LOAN is

written as 1435, LOTS is written ag 8124, DAN
is written as 537 and SON is written as 458, then

what willbe the code of ‘C' ?
(@) (b) 5
6 (d) 7

8. Match List — I with List — Il and select the correct
answer from the codes given below the lists.

List=1 List-11
A. Freon 1. Liquid hydrogen
B. Water gas 2. Tin and Lead
C. Rocket fuel 3. Refrigerant
D. Solder 4. Hydrogen and
carbon monoxide
Codes :
B C D
fAra 4l 1| 2l
b4 3 2 1
©1 2 3 4
2 1 4 3

9. Match List — | with List - Il and select the correct
answer from the codes given below the lists.

List -1 List-1l

A. Aquacultur 1. Silk
B. Floriculture 2. Grapes
C. Sericulture - ~.3. Flower
D. Viticulture A . Fisheries
COdes 2 ‘7 ; |

A B C D
@4 3 2 4
b)3 4 1 2
©3 4 2 1
“(52( 31 11 2f
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Which of the following institutes has opened new
‘Drone Research Centre’ recently ?

(a) IIT Bombay (b) IIT Roorkee

(c) T Madras (d) T Kharagpur

With refer_ence to “Aero - India 2021", which of
the following statements is/are correct ?

1. It was organised in Bengaluru.
2. Delegates from 55 countries participated in it.

Select the correct answer using the codes given
below :

Codes :
(a) Only 1
(c) Both1and 2

(b) Only 2
(d) Neither 1 nor2

Which one of the following rivers originate from
the sacred tank of Multai ?

(a) Mahanadi (b) Narmada
(c) Son (d) Tapti

The average age of 50 students in a bus is
20 years. When the age of conductor is included,
the average age is increased by one year. The
age/6f the conductor is

@& 71 (b) 55
() 51 (d) 50

Who among the following were associated with
the formation of ‘Swaraj Party’ ?

1. Subhash Chandra Bose

2. C.R. Das

3. Jawahar Lal Nehru

4. Moti Lal Nehru

Select the correct answer from the codes given
below :

Codes :
(a) 2and 4 (b) 2and 3
(c)1,2and 3 (d) 1,2,3and 4

‘Zulu’ tribes are found in which of the following
countries ?

(a) New Zealand
(c) Morocco

(b) Australia
(d) South Africa

‘Tree' is related to ‘root’ as ‘smoke’ is related to
which one of the following ?
(a) Wood {({) Chimney

(c) Fire (d) Firework
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17. Hydrogen fuel cell vehicles produce which one
of the following chemicals as ‘exhaust’ ?

(a) Ammonia (b) Water
(c) Methane (d) Hydrogen peroxide

18. Which one of the following pairs is NOT correctly
matched ?
(a) Antilia — Mukesh Ambani

(b) Jaspreet Bumrah
(c) Nova Vax
(d) Indu Malhotra

Sanjana Ganesh
Covid - 19
Women's Cricket

19.  Which one of the following is NOT correctly

matched ?

(a) Right of equality — Article 14 — 18
(b) Right against exploitation — Article 20 — 22
(c) Right to religious freedom — Article 25 — 28
(d) Right to cultural and — Article 29 - 30

educational freedom
20. Most of the desert plants bloom during the night
time because
(a) Their blooming is controlled by low
temperature
(b) They are sensitive to the phases of moon
(c) The desert insects eat away flowers during
daytime
e desert insects are active during night time

21. Consider the following statements and select the
correct answer using the codes given below.
1. There are 1028 versions in the Rigveda.
2. Rigveda is also known as ‘Ashtak’.
Codes :
(a) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

22. Which one of the following is NOT correctly
matched ?

(Mines) (State)

(a) Bailadila - Madhya Pradesh
(b) Chickmagalur -  Karnataka
(c) Mayurbhanj - Odisha
(d) Singhbhum - Jharkhand

23. Which one of the following countries is NOT part
of ‘Quad Group® 7
() Qatar (b) India
(¢) Australia (d) Japan
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Match List — | with List — Il and select the correct
answer from the codes given below the lists.
List-1 List -1
A. Chalanger deep 1. Indian Ocean
B. Dolfin rise 2. Southem Atlantic Ocean
C. Chalangerrise 3. Northem Atlantic Ocean
D. Chagosridge 4. North-East Pacific
Ocean
Codes :
A B C D
(@4 3 1 2
(b4 3 2 1
)1 2 3 4
d1 2 4 3
Given below are two statements, one is labelled as

Assertion (A) and other is labelled as Reason (R).

Assertion (A) : Balban was member of
Turkan-1-Chahlgani’.

Reason (R) : He secured very important place
due to his calibre.

Select the correct answer using the codes given
below :

(a) Both (A) and (R) are true and (R) is correct
explanation of (A)

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

(c) (A) is true, but (R) is false
(d) (A) is false, but (R) is true

Match List — | with List — Il and select the correct
answer from the codes given below the lists.

List -1 List-1I
A. Acid present in the 1. Lactic acid
gastric juices

B. Compound present\Q. Hydrochloric acid

in bones
C. Acid present in 3. Calcium phosphate
vinegar
D. Souring of milk 4. Acetic acid
Codes :
A B C D
@2 3.1 4
(b)4,”72 3 1j
2(, 3] 41 1}
d3 4 1 2

24,
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26.
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the following has b :
Who among : een appointed
25 India’s new Director General of Military

Operations ?

(a) Sanjay Bansal

(b) Rajneesh Kumar

() B.S. Raju

(d) Anand Prakash Maheshwari

Which one of the following statements correctly
explains the meaning of deflation ?

(a) The value of money is rising
(b) The prices are rising

(c) Employment is increasing
(d) Money supply is increasing

With reference to Marathas, which of the following
statements is/are correct ?

1. Marathas collected revenue as Chauth and
Sardeshmukhi.

2. Marathas participated in second battle of
Panipat in 1761.

Select the correct answer using the codes given
below :

Codes :

(a) Only 1

(b) Only 2

(c) Both 1 and 2
(d) Neither 1 nor 2

Given below are two statements, one is labelled
as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : River Narmada makes delta at
its mouth.

Reason (R) : It flows through a rift valley.

Select the correct answer from the codes given
below -

Codes ;

(8) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) i not the
correct explanation of (A)

() (A) is true, but (R) is false

) (A)is aise, but (R) is true

27.
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Match List - | with List — I and select the correct
answer from code given below the lists :

List—1 List-1I
A. Nucleus 1. Protein synthesis
B. Mitochondria . Photosynthesis
C. Chloroplast /3 Respiration
D. Ribosome 4. DNA synthesis
Codes :

A B C

(@) 3 4 1 2

(b) 3 2 } 1&
f4 30 20 o
@2 3 4

Which of the following technique is used for
identification of RNA molecules ?

(a) Western blots (b) Southern blots

(¢) Northern blots (d) Eastern blots

‘Chantransia stage’ is found in
(a) Batrachospermum

(b) Polysiphonia

(c) Chara

(d) Ulothrix

Which one of the elements is situated in Pyrrole
rings of chlorophyll ‘a’ ?

) Na (b) Mn
(c) Mo (d) Mg

Stress hormone is
(a) Auxin
(c) Gibberellin

(b) Abscisic acid
(d) Cytokinin

Down syndrome is due to

(a) Crossing over between genes
(b) Sex-linked inheritance

ga) Non-disjunction of chromosomes

(d) Linked genes
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37. Which of the following group refers to
micronutrients ?

(@ N,Pand K
(b) Caand P
(c) Cland Mo

Jd{Ca S and Mg

38. Which of the following groups of Gymnosperms
included only fossils ?

(a) Cycadales (b) Coniferales

(c) Ginkgoales 44 Cycadofilicales

39. The regeneration of a complete plant from a

tissue of a part of the plant is based on which of
the following phenomenon ?

(a) Tissue grafting
(b) Somatic hybridization
(c) Gene tagging

AdJ Totipotency
40. ‘Kranz anatomy’ is found in the leaves of
Aa) Saccharum (b) Casuarina
(c) Nerium (d) Typha
41,

The first biosphere reserve established in India is
(@) Gulf of Mannar

. 4 Niigir

42. Censer mechanism of seed dispersal is

found in
,(—5)/ Papaveraceae

(d) Fabaceae

(b) Simplipal -
(d) Nanda Devi

(a) Liliaceae
(c) Lamiaceae

43. The integration of biotic and abiotic factors of the
environment of an area constitutes which of the
following ?

(a) Ecology ,(b‘{ Ecosystem
(c) Community study (d) Soil science
B
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44,
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47.

48.

49.

50.

51.

The archegonium of Gymnosperms lack
/d{ Neck canal cells  (b) Venter canal cells
(c) Egg cells (d) Jacket

Bacteria and blue-green algae are similar

due to the

(a) Presence of mitochondria

(b) Chemosynthetic mode of nutrition

(c) Presence of flagella

(gm:sence of nucleoid

In upright pyramid of biomass, the herbivores
occupy the position

(a) 4th (b) 3
M ond (d) 1st

Branched stamens are found in

tay Ricinus (b) Euphorbia

(c) Coccinia (d) Hibiscus

Which of the following is NOT a lipid-soluble
photosynthetic pigment ?

(a) Chlorophyll (7 Phycobilins

(c) Carotenoids (d) Xanthophylls
Diploidization in Puccinia graminis occurs in

(a) Uredospores M eleutospores

(c) Basidiospores (d) Aecidiospores
Inleaves of C, plants malic acid formation occurs
in the cells of

(,a/ Mesophyll (b) Epidermis

(c) Bundle sheeth (d) Phloem

The first artificial enzyme (Ribonuclease-A) was

synthesized by

(a) Messifield R. B.
(b) Gutte B.

(c) Louis Pasteur
(d) Gutte B. and Messifield R. B.
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52. Consider the following :
1. Trifolium pratense Q
2. Triticum spelta ’
3. Gossypium hirsutum
4. Cyanodon dactylon
Which of the above species are allopolyploids ?
(@) 1and 2 jb’f 2and 3
(c) 1and 3 (d) 2and 4

53. Indouble fertilization, the two male gametes fuse
with which of the following ?

(a) Egg and antipodal cell
(b) Egg and synergid cell

):)/ Egg and secondary nucleus
(d) None of the above

54. Inwhich one of the following family, verticillaster
inflorescence is found ?

1(.31/ Lamiaceae

(b) Malvaceae
(c) Apiaceae
(d) Oleaceae

55. The most comprehensive “Red List Categories”
of species are given by

(a) WWF Ab) IUCN

(c) ICSU (d) UNEP

56. Haploid plant can be produced by
/('{ Pollen culture (b) Cotyledon culture
(c) Embryo culture  (d) Meristem culture

57. Principles of Numerical Taxonomy were
developed by

(a) Engler and Prantl

(b) Benthum and Hooker
_,(Q)’gneath and Sokul

(d) Takhtajan and Cronquist
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I w8 7
(a) Jehan T wfigE ww
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(d) ST & F S TG

54, He-Tsheh To0HA IfeiRaa fov oot o i
ST R 7
(a) e 3
(b) HTAET
(c) Thteeht &
(d) 3Tefiedt &

55. T i =T o gt Arr fre i wen
U AR H TSR ?

(a) S5 S TH.
(c) I H.wm .y,

(b) 3. F. @,
(d) I3,

56. Tfora qrey Yer feman ST weRaT R

(a) T HaHq ¥ (b) o wadT @

(c) MO HatH & (d) fr=eias dava @
57. HEATCHS Tl & Rrgral #1 fewm fres g

ferr T O 7

(a) TTeR T Wieed gl

(b) Sem T L g

(c) Fhe T Hige g

(d) TEATH T8 SHHfEaEE g
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58. Who proposed natural system of angiosperm

59.

60.

61.

classification ?

(a) Takhtajan

(b) Cronquist
(c}-Bentham and Hooker
(d) Bessey

Identify the correct match between types of
chromosomes and their descriptions.

List-1 List—1I
(Chromosomes) (Position of

centromere)

A. Metacentric 1. Atthe tip
B. Submetacentric\i. Almost near the tip
C. Acrocentric . At the middle

D. Telocentric 4. Slightly away from

the middle
Codes :

A B ¢
@1 4 2
G2 4 1

2
1

g3l 4l

d4 3

N = W w o

The commercial jute fibres are
(a) Xylem fibres
Mhloem fibres

(c) Intra xylary fibres

(d) Surface fibres

The ability of gram positive bacterial cell to retain
Gram'’s stain after washing with suitable organic
solvent is due to the presence of high amount of

(a) Phospholipid

(b) Lipopolysaccharide
/(e)" Peptidoglycan

(d) Phosphoglyceride

58.

59.

60.

61.
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g2. Among the following, which plant is completely
devoid of roots ?

Ceratophyllum (b) Azolla

(c) Hydrilla (d) Sagittaria

63. The opening and closing mechanism of stomata
is regulated by which of the pressure ?
(a) Atmospheric pressure
/(b‘f Turgar pressure
(c) Vapour pressure
(d) None of the above

64. Which of the following is NOT a commercial

" timber yielding plant ?
/gzdon'nga oleifera  (b) Tectona grandis

(c) Mangifera indica (d) Dalbergia sissoo

65. Protoplasmic fusion was first reported by
(a) Hanstein
(b) Nirenberg and Khorana
(c) Watson and Crick

Jg.)/Kohler and Milsten

66. Which of the following is NOT a constituent of
cell membrane ?

(@) Phospholipid
/CQ)’ Proline

67. The correct sequence of different steps of
polymerase chain reaction are

(b) Glycolipid
(d) Cholesterol

(a) Annealing — Denaturation — Extension
(b) Denaturation — Extension — Annealing
Menaturation — Annealing — Extension

(d) Extension — Denaturation — Annealing

68. Circinotropous ovule is found in

,(a‘)/ Opuntia

(c) Pisum

(b) Polygonum

(d) Butomus

62.

63.

64.

65.

66.

67.

68.

GET IT ON
Google Play

APD - 14

frfafad # & SR-w dr qof wu ssfEH
Bl 8 7
(a) R bem (b) T

(c) grsfeem (d) afrfar

R % ger 3ft a2 21 ) frn fra R S
caE & g e B R 2

(a) STgHEE qaTE

(b) Thifa gam

(c) 99 gETE

(d) 3T § A IS 7

frafafaa 4 @ S9-o s s a6st
PR A R 7

(a) TR 3BT (b) T H=3T
(c) FTBT 3f~8hT (d) SeTaffar faat

Terefons WoH aduem fraes gr weqa e
RIE (IR

(a) &R g0

(b) et g R
(OELERE BE =R

(d) EeR e e g

Frafafaa 1 @ SR-a Ik e <1 @ aes
T 7

(a) GBS
RIS

(b) TEHITANS
(d) eI

qrefite e wfafen & faftem =i § wd
ERR

(a) T — RBEGEE - WA

(b) AT — TR — whfem

(c) T — whfem — T

(d) TR — fRR — whiem

TRARTE wiwvE YT S @
(b) wrefhmaR
(d) gema

(a) 39fRwT
(c) wrEE ¥



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

o

69. Which of the following is the first product of
photorespiration ?

(a) Glycolic acid (b) Serine
_ M Phosphoglycolate (d) Glycine

70. Which one of the following pteridophyte stem
exhibits both xerophytic and hydrophytic
characters ?

(a) Marsilea (b) Lycopodium
(e Equisetum (d) Selaginella

71. Which of the following is an invasive alien
species ?
(a) Helianthus annuus
(b)-Oryza sativa
c) Lantana camara
(d) Saccharum officinerum

72. Pseudo-embryosac is found in
(a) Typha M Podostemon
(c) Oenothera (d) Allium
73. Lichens reproduce by which one of the following ?
(a) Conidia (b) Gonidia
(¢) Oidia S'd) Soredia

74. Which of the following region of soil profile is rich
in organic matter ?

(ay A, region (b) A, region
(c) ‘B’ horizon (d) ‘C’ horizon
75. A key stone species in many tropical forests is
,(JFicus (b) Pinus
(c) Sapindus (d) Cynodon

76. In gene mutation replacement of a purine by a
pyrimidine or a pyrimidine by a purine is called

(a) Tautomerism (b) Transduction

(c) Transition (9)/ Transversion
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77. Hirudin is obtained from which of the transgenic

plant ?
(a) Raphanus sativus

- B
(b) Brassica napus

78.

79.

80.

81.

82.

(c) Hibiscus rosasinensis
(d) Vinca rosea

Coronopus didymus, which belongs to
Brassicaceae family, has

(a) Two stamens

}efSix stamens

The fungal group presently classified under
Protists is

(b) Four stamens

(d) None of the above

(a) Zygomycetes
(b) Oomycetes
(c) Deuteromycetes

(d) Discomycetes

Diadelphous condition of stamens is when

(a) 2 stamens are short and 2 long

(b) 2 stamens are short and 4 long
m stamens are in one bundle and one is alone

(d) Only two stamens are present

Which of the following chemical interferes with
virus multiplication ?

(Q/Actinomycin D

(b) Raffinose

(c) Chloramphinicol

(d) Glactose

The most succulent plants CO, is fixed by the
activity of

(8’ PEP carboxylase
(b) RuBP carboxylase
(c) PEP oxygenase
(d) RuBP oxygenase

77.

78.

79.

80.

81.

82.
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83. Each Pinus needle contains 83. W% grsg feer # ar S @ ;
(a) One vascular bundle (a) Uk Hagd dwadd |
{pY Two vascular bundles (b) € Hagd Twsd
(c) Three vascular bundles (c) o TagT s
(d) Many vascular bundles (d) 98 | Hag S5t

84. Presence of glycolate in the cells willhelptoopen | 84, <hif¥rental i wigeniciz <t Iyl el F g

stomata when there is % wgrew g, FEf 9 e
_k&) High concentration of O, and Low CO, (a) O, <R I== AT W CO, =
(b) High concentration of CO, (b) CO,hl I== Ar=xl
(c) Low concentration of O, (c) Ozﬁ = arga
(d) High concentration of CO, and Low O, (d) CO, % 3= |rga1 T O, i f=
85. Which of the following statement is correct ? 85, fmfafaa § @ -1 A aH R 7
(a) tsnt:;il:‘ge :airs of urtica are non-gradular (@) e % v An R ;rsaa’m s
gp)/Anisocytic stomata are found in the (b) STEHIRIHT Y IS Fo1 6 Tl | T8
members of family papaveraceae Jd 8
c) Medullary vascular bundles are found in
“ Achyran?l:es stem ©) ?ﬁm % T H A HIE = T
(d) In autumn, wood vessels are much wider g
and relatively thin walled than in spring (d) IRG qr® T qifger 99 <% 4 3= ﬁ-{;i—a
wood T FAETTHA Jacit B i Bt @
86. The optimum rate of photosynthesis is found in | 86. eI H¥IYUr it FfRrean X W 3 fore T fiem
which colours of light 2 ERICIESICIE S
(a) Red — Green (b) Red - Yellow (a) A - & (b) ST - diett
(9¥ Red - Blue (d) Orange — Green (c) @t - e (d) TRl - &

87. Tetradynamous androecium in Brassicaceae 87. wftrdy o ST QHT B B

. f =
consists 0 (a) q wTed T T QY AT B GHRET
(b) Outer two short and inner four long stamens (©) a NI e R i W

(cyOuter four long and inner two short stamens (c) STE{t IR T T R T B 3%““
(d) Outer four short and inner two long stamens (d) STEQ AR B T T & T Yt

B -16-

(a) Outer two long and inner two short stamens
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g8. Myrosin glands are found in
(a) Oleaceae (b) Portulacaceae

};j Brassicaceae (d) Apiaceae

g9. Corms of Araceae have a pungent acrial taste
because they contain

(a) Aromatic oil
)b)’ Oxalate crystals
(c) Alkaloids

(d) Latex

90. Stomata of C.A.M. plants
(a) are always open
(b) open during the day and close at night

open during night and close during day

(d) never open

91. Ubisch bodies are associated with the
development of which of the following ?

(a) Embryo (b) Embryo sac
(c) Endosperm Jdy Pollen grains
92.  Which one of the following is a potent weed killer ?
(a) IAA - 6) 2,4D
(c) TIBA (d) NPA
93. Floral bud is modified into tendril in
(@) Smilax (b) Porana
£€) Antigonon (d) Clematis

94. Who among the following is associated with the
discovery of ‘Restriction endonuclease’ ?

(a) H. G. Khorana
(b) M. Nirenberg
(c) H. O. Smith

9)/8. D. Weiss
B
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95. Neuromotor apparatus is found in
(a) Vaucheria
_b) Chlamydomonas
(c) Sargassum
(d) Nostoc

96. ‘Gongrosira stage’ is found in the algae
(a) Volvox

{eY Vauchenia

(b) Chlamydomonas
(d) Ectocarpus

97. Mitochondrial marker enzyme is
(a) Pyruvate dehydrogenase
(b) Aldolase

(c) Amylase

) Succinic dehydrogenase

98.
groups based on

(a) Axial or foliar origin of ovules
Lb‘)/ Composition of wood

(c) Resemblance to ferns in general
appearance

(d) General morphological characters

99.
chloroplast ?
(a) Scytonema
-(c) Anabaena

45)/ Zygnema

First transgenic plant was
(a) Cotton (b) Tomato
(2) Tobacco (d) Wheat

by which of the following ?
(a) Cytochrome

(b) Cytokinin
(Q/Phytochrome

(d) Chlorophyll

Sahni divided Gymnosperms into two major

Which one of the following algae has stellate

(d) Batrachospermum

The physiology of flowering in plants is controlled

95.

96.

97.

98.

99.

100.

101.
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102. Gynobasic style is found in
(a) Acanthaceae
(b) Poaceae

(c) Liliaceae
’w{ Lamiaceae

103. The suppression of activity of gene by another
non-allelic gene is called as

(a) Pseudo-dominance
/{) Epistasis
(c) Hypostasis

(d) Co-dominance

104. The result of F-2 generation in dominant
epistasis is

1@12:3:1

(c) 3:1

(b) 9:7
(d) 9:3:4

105. Pisatin is an example of
(a) Antibiotic
Ab) Phytoalexin
(c) Biofertilizer
(d) PR-Protein

106. Induction of formation of inter-fascicular cambium
is by

(a) Kinetin

(b) Gibberellin

Je) Auxin

(d) Ethylene

107.  Bacterial photosynthesis is different from that of
other green plants because

(a) Light is not required

{B) Oxygen is not released

() Phosphorylation is not required

(d) Energy is not fixed

102

103.

104,

105.

106.

107.
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H 108. Striga asiatica plant is a 108. w15 Q3w W @
! ] |
f (a) Total root parasite ORUEEASIC
‘ ‘ (b) Total stem parasite (b) qUf <1 TRt |
‘| 3 o) Partial root parasite (c) R TG Tl
. i (d) Partial stem parasite (d) iR T Gl j
E I , 109. Which part of moss capsule is haploid ? 109. T % HTGS BN A~ I IO g ? \
L Aa) Calyptra (b) Operculum (a) Hfere (b) =T |
' (c) Annulus (d) Columella (c) I (d) EifrhT
| 110. Latex cells occur in 110. & ifreRrd ur$ et B
¥ (a) Xylem (b) Cambium (a) g & (b) T A .
(c) Bark (9) Cortex (c) Tt i (d) sohed |
1 111. Cyathium inflorescence is seen in which of the | 111. freafafaa & & aRea s forg o & @
] f following plants ? SR ? .
i () Euphorbia hirta (a) FwRFar feef &
(b) Ricinus communis (b) RfeRE wgfra o
: (c) Ficus religiosa (c) BT Iefforaiar o
(d) Ocimum sanctum (d) 3T Herem °
112.  Which one of the following ecological pyramids | 112. fr=fafiga § @ =\v-a1 & wiifafis Rafe
is always upright ? T i g 7
(a) Pyramid of numbers (a) T 1 fafire
(b) Pyramid of biomass (b) St gy =1 ffirg
() Pyramid of energy (c) St =1 e
(d) Age pyramid of plant population (d) UTeY SreTdl 1 3y frafie
113. In the phosphorylation process, energy is 113, wrehiiederor wiwan § ot wal 4 ard 2§ 2
derived from 3 :
‘[d)/ Glucose (b) Maltose (@) 3 (b) il
(c) Electron (d) Cytochrome () S (d) |T3HE |
| 114. What is the primary acceptor of CO, in Hatch- | 114. fa-wis = 3 FET SEATRATES 1 Ui
! Slack cycle ? et 2 v
| o
1:5 ! (3 Phosphoenol pyruvic acid (@) BTERIFTE RIEICERS
H (b) Phosphoglyceric acid (b) wrewmifierafer anc
(c) Diphosphoglyceric acid (c) SHwRRIfRERE s
1 _ (d) Ribulose biphosphate (d) TR SHRpe
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115. Which of the following is called power house of

116.

117.

118.

119.

120.

the cells ?
(a) Lysosome

(b) Spherosome

_At) Mitochondria

(d) Chloroplast

Indigo is obtained from which part of Indigofera
tinctoria plant ?

(a) Flowers (b) Bark

(c) Roots ) Leaves

A monosporic type of embyro sac which does
NOT have any antipodal is

(a) Polygonum type

(p¥ Oenothera type
(c) Peperomia type

(d) None of the above

Amongst the following which one is insectivorous

plant ?
M Drosera
(d) Orobanche

(@) Monotropa
(c) Cuscuta

If the root of Pinus has 20 chromosomes, then
what would be the number of chromosomes in
its endosperm ?

(a) 60

(@ 10

In which geological period did the flowering plants

come into existence ?
(a) Devonian

(b) Permian

/<) Cretaceous

(d) Carboniferous

115.

116.

117.

118.

119.

120.

APD - 14

Frafaflaa & @ a0 Fifimet w oot @+
ST R 7

(a) SITEENY
(b) TR

(c) HT3erRITEAT
(d) FAUARL

e Radifar M % frg wm @ i ard
s 7
(a) geai @
(c) Tei &

(b) BT A
(d) gt &

T HHIEAIE TR 1 Y01 iy Rt B whidea
G B, ]
(a) TIETHE YT T

frefeiad & & S9-91 T Hrevsht dar ¢
(a) FHIgIaT (b) ST

(c) @Eper (d) JRIE=H

afe grsE <t 915 # 20 o TR 9 |, 99 39
yoTdry F Qo S wen Reah @ 2

(a) 60 (b) 40

(c) 10 (d) 80

fere st arafy o qefta wew sifere
Ham 7

(a) Saifaam o

(b) Tt o

(c) forefaraam #

(d) TTEHIEE |
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